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WOFHEZ LIRS0,

(1) 7—9= (2) 2—-3=

(3) 9—-10= (4) 2—11=

(5) T—12= (6) 1 -8 =

(7) 98 — 166 = (8) 41 — 101 =

(9) 90 — 141 = (10) 820 — 1074 =
(11) 699 — 1678 = (12) 415 - 918 =
(13) 0 — 85 = (14) 17 —70 =
(15) 22 — 55 = (16) 29 — 32 =

— 13th-note —
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WOFHEZ LIRS0,

(1) 0.8 —1.4= (2) 0.8 —0.9 =

(3) 0.4 —0.8= (4) 0.8 —1.3 =

(5) 0.4 —0.9 = (6) 0.6 —1.2=

(7) 7.4 —8.9 = (8) 5.4 —11.2 =
(9) 82 —8.5= (10) 0.14 — 0.19 =
(11) 0.83 — 1.26 = (12) 0.15 - 0.8 =
(13) 0.3 —1.03 = (14) 0 —41.1 =

(15) 4.1 —10.43 = (16) 0.25 — 6.67 =

— 13th-note —
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— 13th-note —
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WOFHEZ LIRS0,

(1) —2-8= (2) -5—-T7=

(3) —4—-7= (4) -3 -12=

(5) =5 —14 = (6) —6—13 =

(7) =19 — 84 = (8) —88 — 142 =

(9) —89 — 104 = (10) —141 — 381 =
(11) =77 — 287 = (12) —235 — 952 =
(13) —7933 — 8374 = (14) —1835 — 6188 =
(15) —7173 — 8545 = (16) —2126 — 9377 =

— 13th-note —
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WOFHEZ LIRS0,

(1) —0.9-0.6 = (2) —0.5-0.2 =
(3) —0.6 —0.9 = (4) —0.3 0.6 =
(5) —0.4—0.4 = (6) —0.2—0.6 =
(7) =13 -8.7= (8) —8.1—4=
(9) —5.7—6.2 = (10) —0.18 — 0.69 =
(11) —0.48 — 0.67 = (12) —0.01 — 0.63 =
(13) —6.68 — 3.39 = (14) —6.72 —2.32 =
(15) —8.56 — 9.78 = (16) —0.44 — 1.93 =

— 13th-note —



WOFEZ LS,
D
0 E b
(5) 0- 2 =
-3-3-
0-3-4-
I
(13) 0— - =
8-

-~ FEORLESIE%E 0120-2 -

0-%-3
0%
0-3-3
®-3-3
w -4
w -4-4-
-5
-3 -3

— 13th-note —
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WOFHEZ LIRS0,

(1) —11+8 = (2) —17+8 =
(3) —12+8 = (4) —6+3 =

(5) —14+5= (6) —3+2=

(7) =133+ 178 = (8) =70+ 35 =
(9) —91+29 = (10) —129 + 96 =
(11) —105 427 = (12) —175 4 86 =
(13) —1000 + 633 = (14) —1544 + 745 =
(15) —839 + 446 = (16) —1236 + 893 =

— 13th-note —
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WOFHEZ LIRS0,

(1) =124+ 0.8 = (2) =1.34+0.9=
(3) —0.6+0.3 = (4) —1.54+0.9 =
(5) —0.8+ 0.6 = (6) —0.8+0.4=
(7) —7.840.5= (8) —12.4+43.9 =
(9) —16.249.9 = (10) —1.140.57 =
(11) —1.41 +0.48 = (12) —1.08 +0.3 =
(13) —2.98 +0.39 = (14) —12.21 +2.94 =
(15) —7.31+0.55 = (16) —6.71 + 5.87 =

— 13th-note —



WOFEZ LS,
1) —F+5 =
o -t i
() —5+5 =
(M -5 +5=
(9 -2 ++=
OD—%+%:
(13) — + & =
(15) -2 + & =

-~ FEORLESIE%E 0120-2 -

-]
G-
0 444
© 48
(m)—%+i<:
um—%+%:
g
w0 -3+
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10, wosmzLrsn,

(1) (+7) + (+1) = (2) (+7) + (+8) =

(3) (+5) + (+9) = (4) (+4) + (+6) =

(5) (+62) + (+83) = (6) (+13) + (+3) =

(7) (+95) 4+ (+99) = (8) (+87) + (+86) =
(9) (+790) + (+176) = (10) (+406) + (+505) =
(11) (+256) 4 (+524) = (12) (+225) 4 (+951) =
(13) (+5.7) + (+8.5) = (14) (4+0.48) + (+0.15) =
(15) (4+79.8) + (+2.5) = (16) (+79.4) + (+75.7) =

— 13th-note —
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11. wosmzeLrsn,

(1) 6+ (—12) = (2) 1+ (-8) =

(3) 7+ (=9) = (4) 1+ (=9) =

(5) 04 (=72) = (6) 124 (—76) =
(7) 41+ (—139) = (8) 31+ (—43) =
(9) 744 + (—1533) = (10) 997 + (—1098) =
(11) 445 + (—554) = (12) 222 + (—792) =
(13) 0+ (=7.7) = (14) 0.21 + (—0.72) =
(15) 0.99 + (—1.27) = (16) 65.3 4 (—77.3) =

— 13th-note —
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12, wommzeLrsn,

(1) 2 — (+10) = (2) 7— (+10) =

(3) 4 — (+12) = (4) 3 — (+10) =

(5) 0 — (+44) = (6) 94 — (+164) =

(7) 87 — (+166) = (8) 28 — (+110) =

(9) 433 — (+1175) = (10) 896 — (+1789) =
(11) 726 — (+1326) = (12) 31 — (+225) =
(13) 0 — (+4.9) = (14) 0.28 — (+0.62) =
(15) 0.96 — (+1.79) = (16) 52.4 — (+128) =

— 13th-note —
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13, wommzeLrsn,

(1) 6 —(-6) = (2) 6-(=3) =

(3) 4—(=-8) = (4) 5—(=7) =

(5) 0 — (—52) = (6) 23 — (—9) =

(7) 7—(~10) = (8) 70 — (—69) =

(9) 631 — (=531) = (10) 539 — (—583) =
(11) 607 — (~508) = (12) 281 — (—105) =
(13) 0 — (=5.6) = (14) 0.37 — (—0.39) =
(15) 0.02 — (—0.61) = (16) 65.6 — (—41.3) =

— 13th-note —
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14, wommzeLrsn,

(1) (+5) +(=10) = (2) (+8) + (=17) =
(3) (+3)+(-8) = (4) (+8) + (-11) =
(5) (+7) +(-10) = (6) (+1) +(=9) =

(7) (+0.3) + (=7) = (8) (+3) + (—9.5) =
(9) (+0.03) 4 (—0.25) = (10) (+0.87) + (~1.3) =
(11) (+52) 4 (—=70) = (12) (+60) 4 (—86) =
(13) (+33) + (—42) = (14) (4+8) + (—25) =
(15) (+13) 4+ (=72) = (16) (+15) + (—87) =

— 13th-note —
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15, wommzeLrsn,

(1) (+2) +(-10) = (2) (+18) +(-9) =
(3) (+10) +(-2) = (4) (+1) + (=6) =

(5) (+12) 4+ (—4) = (6) 0+ (—57) =

(7) (+0.9) + (-1) = (8) (+8.9) + (—16) =
(9) (+40) + (=5) = (10) (+95) + (—81) =
(11) (+532) + (—1045) = (12) (+271) + (—664) =
(13) (+546) + (—216) = (14) (+0.8) 4 (—0.45) =
(15) (+0.21) + (—0.98) = (16) (+1.13) + (—0.3) =

— 13th-note —
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10. wosmzLrsn,

(1) (=7) +(+15) = (2) (=3) +(+4) =

(3) (=10) + (+5) = (4) (=1)+(+5) =

(5) (=9)+ (+8) = (6) (=7)+ (+4) =

(7) (—=6.5) + (+4) = (8) (—9.9) + (+2.3) =
(9) (—23)+ (+14) = (10) (—60) + (+28) =
(11) (—369) + (+185) = (12) (—361) + (+329) =
(13) (—834) 4 (+155) = (14) (—0.4) + (+0.86) =
(15) (—0.32) + (4+0.29) = (16) (—0.1) + (4+0.29) =

— 13th-note —



17. wommzeLrsn,

(1) (=11) = (=9) =

(7) (=5.2) — (—13.6) =

(9) (=3.5) —(—124) =

(11) (=77) —(-91) =

(13) (—1188) — (—649) =

(15) (—=1.33) — (—0.69) =
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(8) (—4.8) — (—4.7) =

(10) (—45) — (—67) =

(12) (—86) — (—49) =

(14) (—1343) — (—850) =

(16) (—2.02) — (—2.15) =

— 13th-note —
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18. wosmzLrswn,

(1) (+7) = (=8) = (2) (=10) = (=5) =

(3) (+4) = (-4) = (4) (=3) = (-11) =

(5) (=74) — (—65) = (6) (+138) 4 (—52) =
(7) (+57) 4+ (—=16) = (8) (—6) + (+27) =

(9) (+908) — (+62) = (10) (+1884) — (+984) =
(11) (=781) — (+101) = (12) (—835) — (~714) =
(13) (43867) + (+2754) = (14) (—9056) + (—4444) =
(15) (—15293) + (4+9095) = (16) (+6262) + (—5905) =

— 13th-note —
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19. wosmzLrsn,

(1) +7) = (=3) = (2) (+9) - (+7) =

(3) (+27) — (=57) = (4) (+64) + (-9) =

(5) (—1025) + (+222) = (6) (+488) — (+815) =
(7) (—13312) — (—5045) = (8) (+1133) — (—5603) =
(9) (+0.6) — (+1.5) = (10) (+1.1) + (=0.7) =
(11) (=5.1) — (=2.7) = (12) (+2.4) + (+9) =
(13) (+62.8) + (—36.2) = (14) (+75.6) + (—166.4) =
(15) (+476.1) + (—809) = (16) (+205.9) — (+222) =

— 13th-note —



20, womsmaLasn,

(1) (=0.2) = (-0.8) =

(3) (40.32) + (+0.12) =

(5) (+95.1) — (+80.2) =

(7) (+409.6) + (+711.2) =
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(2) (+0.6) + (—0.5) =

(4) (<0.9) — (-0.39) =

(6) (+94.5) + (+44.6) =

(8) (+735.1) — (+1089.3) =

— 13th-note —
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. ROFHRAEZLR SV,

1) 7-9= —2 2)2-3= —1

3)9-10= —1 (4)2-11= —9

(5) 7—12= —H 6) 1-8= —T7

(7) 98 —166 = —68 (8) 41—-101= —60

9) 90—141= —51 (10) 820 — 1074 = —254
(11) 699 — 1678 = —979 (12) 415 —-918 = —b03
(13) 0—85= —&8H (14) 17—70= —d3
(15) 22—-55= —33 (16) 29 -32= —3

— 13th-note —
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. ROFHRAEZLR SV,
(1) 08-14= —0.6 2) 0.8—-09= —0.1
3)04—-08= —0.4 (1) 08—13= —0.5
(5) 04—-09= —0.5 6) 06—12= —0.6
(7) 74-89= —1.5 (8) 54—112= —5.8
9) 82-85= —0.3 (10) 0.14—-0.19= —0.05
(11) 0.83-1.26= —0.43 (12) 0.15 - 0.8 = —0.65
(13) 03—-1.03= —0.73 (14) 0—411= —41.1
(15) 4.1 -1043= —6.33 (16) 0.25 —6.67= —6.42

— 13th-note —
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(2 1-3- _%
(9 1-3= _%
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— 13th-note —
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. ROFHHEZEZ LRIV,
(1) —2—-8= —10
3) —4—7= —11

(5) =b—14= —19

(7) —19—-84= —103

9) -89 —104= —193

(11) —77—287= —364

(13) —7933 — 83714 = —16307

(15) —7173 — 8545 = — 15718

2) 5-7= —12

(4) —3—12= —15

6) -6—13= —19

(8) —88 —142= —230

(10) —141 — 381 = —O22

(12) —235 - 952 = — 1187

(14) —1835 — 6188 = —8023

(16) —2126 — 9377 = — 11503

— 13th-note —
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. ROFHRAEZLR SV,

(1) —=0.9-06= —1.5

(3) =06—-09= —1.5

(5) =04 —-04= —0.8

(7) —1.3-87= —10

9) —-5.7-62= —11.9

(11) =048 —0.67= —1.15

(13) —=6.68 —3.39= —10.07

(15) —8.56 —9.78 = —18.34

2) —05-02= —0.7

(4) —0.3-06= —0.9

6) —02-06= —0.8

(8) —81-4= —12.1

(10) —0.18 —0.69 = —0.87

(12) —0.01—0.63= —0.64

(14) —6.72—-232= —9.04

(16) —0.44—1.93 = —2.37

— 13th-note —
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— 13th-note —
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. ROFHRAEZLR SV,

(1) —11+8= —3 (2) —17+8= —9

3) —12+8= —4 (4) -6+3= —3

(5) —14+5= —9 6) -3+2= —1

(7) =133+ 78 = —OD (8) —70+35= —35

(9) —91+29= —62 (10) =129+ 96 = —33
(11) —105+27= —78 (12) —1754+86 = —89
(13) —1000 + 633 = —367 (14) —1544 + 745 = — 799
(15) —839 4446 = —393 (16) —1236 + 893 = —343

— 13th-note —



. ROFHEE LI,

(1) -1.2+08= —0.4

(3) —06+03= —0.3
(5) —=08+06= —0.2
(7) —7.8405= —7.3
9) —1624+99= —6.3

(11) —1.414 048 = —0.93

(13) —2.98+0.39= —2.59

(15) —=7.31+055= —6.76
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2) -1.3+09= —0.4
(4) —1.5+09= —0.6
6) —08+04= —0.4
(8) —1244+39= —8.5

(10) —1.1+057= —0.53

(12) —1.08+03= —0.78

(14) —12.21 +294= —9.27

(16) —6.71+587= —0.84

— 13th-note —
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— 13th-note —
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10, wosmzLrsn,

(1) (+7)++1) = 8

(3) (+5)+ (+9)= 14

(5) (+62) + (+83) = 145

(7) (+95) + (+99) = 194

(9) (+790) 4 (+176) = 966

(11) (+256) + (+524) = 780

(13) (+5.7) + (+8.5) = 14.2

(15) (+79.8) + (+2.5) = 82.3

(2) (+7)+(+8)= 15

(4) (+4)+ (+6)= 10

(6) (+13)+ (+3)= 16

(8) (+87)+ (+86)= 173

(10) (+406) + (+505) = 911

(12) (+225) + (+951) = 1176

(14) (40.48) 4 (+0.15) = 0.63

(16) (+79.4) + (+75.7) = 155.1

— 13th-note —
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11. wosmzeLrsn,

(1) 6+ (-12)= —6

(5) 04 (=72)= —T72

(7) 41+ (-139) = —98

(9) 744 + (—1533) = — 789

(11) 445+ (=554) = —109

(13) 04 (=7.7)= — 7.7

(15) 0.99 + (-1.27) = —0.28

(2) 14+ (-8)= —7

(6) 124 (—76) = —64

(8) 31+ (—43)= —12

(10) 997 + (—1098) = —101

(12) 222+ (-792) = —HT70

(14) 0.21 4+ (-0.72) = —0.51

(16) 65.3+ (=77.3)= —12

— 13th-note —
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12, wommzeLrsn,

(1) 2—(+10)= —8 2) 7—(+10)= —3

(3) 4—(+12)= —8 (4) 3—(+10)= —7

(5) 0— (+44) = —44 (6) 94— (+164) = —T70

(7) 87 — (+166) = —T79 (8) 28 — (+110) = —82

(9) 433 — (+1175) = — 742 (10) 896 — (+1789) = —893
(11) 726 — (+1326) = —600 (12) 31 — (+225)= —194
(13) 0 — (+4.9) = —4.9 (14) 0.28 — (+0.62) = —0.34
(15) 0.96 — (+1.79) = —0.83 (16) 52.4 — (+128) = —75.6

— 13th-note —



13, wommzeLrsn,

(1) 6—(—6)= 12

(3)4—(—8)= 12

(5) 0—(=52) = D2

(1) 7—(-10)= 17

(9) 631 — (=531)= 1162

(11) 607 — (—508) = 1115

(13) 0 — (=5.6) = 5.6

(15) 0.02 — (-0.61) = 0.63
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2) 6—(=3)= 9

(4)5—(-7)= 12

6) 23— (—9) = 32

(8) 70— (—69) = 139

(10) 539 — (—583) = 1122

(12) 281 — (—105) = 386

(14) 0.37 - (-0.39) = 0.76

(16) 65.6 — (—41.3) = 106.9

— 13th-note —



-~ FEORLESIE%E 0120-2 -

14, wommzeLrsn,

(1) (+5) + (-10)= —d

(5) (+7)+ (-10) = —3

(7) (40.3) + (=7)= —6.7

(9) (+0.03) 4+ (—0.25) = —0.22

(11) (+52) + (-70)= —18

(13) (+33) +(—42)= —9

(15) (+13) 4 (=72) = —99

(2) (48) + (-17) = —9

(4) (+8) +(-11)= —3

(8) (+3)+(-9.5)= —6.5

(10) (+0.87) + (-1.3) = —0.43

(12) (+60) + (—86) = —26

(14) (48) + (=25)= —17

(16) (+15)+ (—87)= — 72

— 13th-note —
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15, wommzeLrsn,

(1) (+2) + (-10)= —8

(3) (+10)+(-2)= 8

I
03]

(5) (+12) + (—4)

(7) (+0.9)+(-1)= —0.1

(9) (+40) 4 (=5) = 39

(11) (+532) 4+ (—1045) = —5H13

(13) (+546) + (—216) = 330

(15) (+0.21) + (—0.98) = —0.77

(2) (+18)+(-9) = 9

6) 0+ (=57)= —DT

(8) (+8.9)+ (-16)= —7.1

(10) (+95) + (-81) = 14

(12) (+271) 4 (-664) = —393

(14) (+0.8) + (—0.45) = 0.35

(16) (+1.13) + (-0.3) = 0.83

— 13th-note —
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10. wosmzLrsn,

(1) (=7)+ (+15) = 8 2) (-3)+(+4) =1

(3) (—10)+ (+5) = —9H 4) () +(+5) = 4

(5) (—9)+(+8) = —1 6) (-=7)+(+4)= —3

(7) (=6.5) + (+4) = —2.5 (8) (—9.9) + (+2.3) = —7.6
(9) (=23)+ (+14) = —9 (10) (—60) 4 (+28) = —32
(11) (—369) + (+185) = —184 (12) (—361) + (+329) = —32
(13) (—834) + (+155) = —679 (14) (—0.4) + (+0.86) = 0.46
(15) (—0.32) 4+ (+0.29) = —0.03 (16) (—0.1) + (+0.29) = 0.19

— 13th-note —
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17. wommzeLrsn,

(1) (-11) = (-9)= —2 (2) (-1)—(=6)= D

3) (-2)—(-7)= 5 (4) (6)—(-9) = 3

(5) (=5) = (~10)= 5 (6) (=3)—(-1)= —2

(7) (=5.2) — (-13.6) = 8.4 8) (—4.8) — (—4.7)= —0.1
(9) (—=3.5)—(—12.4) = 8.9 (10) (—45) — (—67) = 22

(11) (=77) = (-91) = 14 (12) (—86) — (—49) = —37
(13) (—1188) — (—649) = —5H39 (14) (—1343) — (—850) = —493
(15) (—1.33) — (—0.69) = —0.64 (16) (—2.02) — (-2.15)= 0.13

— 13th-note —



-~ FEORLESIE%E 0120-2 -

18. wosmzLrswn,

(1) (+7) —(-8)= 15 (2) (-10) = (=5)= —I

(3) (+4) - (-4 = 8 (4) (-3) - (-11) = 8

(5) (=74) — (—65)= —9 (6) (+138) + (—52) = 86

(7) (+57) + (-16) = 41 (8) (—6) + (+27) = 21

(9) (+908) — (+62) = 846 (10) (+1884) — (+984) = 900

(11) (=781) — (+101) = —882 (12) (—835) — (-714) = —121

(13) (+3867) + (+2754) = 6621 (14) (—9056) + (—4444) = — 13500
(15) (—15293) + (+9095) = —6198 (16) (+6262) 4+ (=5905) = 357

— 13th-note —



-~ FEORLESIE%E 0120-2 -

19. wosmzLrsn,

(1) (+7)—(-3)= 10

(3) (+27)— (-57) = 84

(5) (—1025) 4 (+222) = —803

(7) (—13312) — (—5045) = —8267

(9) (+0.6) — (+1.5) = —0.9

(11) (=5.1) = (=2.7)= —2.4

(13) (+62.8) + (—36.2) = 26.6

(15) (4+476.1) + (—809) = —332.9

2) (+9) — (+7) = 2

(4) (+64) 4+ (=9) = 99

(6) (+488) — (+815) = —327

(8) (+1133) — (—5603) = 6736

(10) (+1.1)+ (-0.7)= 0.4

(12) (+2.4)+ (+9) = 11.4

(14) (+75.6) + (—166.4) = —90.8

(16) (+205.9) — (+222) = —16.1

— 13th-note —



-~ FEORLESIE%E 0120-2 -

20. womms Lrs.

(1) (-0.2) - (-0.8)= 0.6 (2) (+0.6)+ (-0.5)= 0.1

(3) (+0.32) + (+0.12) = 0.44 (4) (=0.9) — (-0.39)= —0.51

(5) (+95.1) — (+80.2) = 14.9 (6) (+94.5) + (+44.6) = 139.1

(7) (+409.6) + (+711.2) = 1120.8 (8) (+735.1) — (+1089.3) = —354.2
o (B ()= = w (13)+ ()= L

a (+5)+ (3)- —57 o (-2)+ (-2) - =2
() (3 15 19 () (+4)= =

w9 (3)+ (1) - 5 10 (-2)+(-2)- —32

— 13th-note —



